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Make Connections

The ancient pyramids at Giza, Egypt,
were built about 4500 years ago.

Thispyramidhas a square base
with a side length of 755 feet. The
original height of the pyramid was
481 feet. Archeologists believe that
the pyramid was once covered with
a white limestone casing. How could
youcalculate the area that was once
covered with limestone?

4.3 - Surface Area

AREA Formulas...

Rectangle or Square Circle
A =Dbh
Parallelogram or Rhombus
s
h A =bh
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Triangle

A A=Y, bh

Trapezoid

a

A=, h(a+b)
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Surface Area

Surface areais the total area of all of the faces
of the object.

Steps need to find Surface area are:

1. Draw all of the faces with dimensions displayed on them.

2. Find the area of each face.

3. Then add up the areas of all of the faces.

Activate Prior Learning:

Surface Areas of Right Prisms

and Cylinders
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SA =2m? + 2mrh
Which object below has the greater surface area?
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The surface area of a prism is equal to the sum of the areas of its faces. For a rectangular prism with
length €, width w, and height h, the surface areais S = 2€w + 2¢h + 2wh.

m Find the surface area of the rectangular prism.

S = 26w + 2¢h + 2wh Surface area of a prism
2(3)(5) + 2(3 =3, w=5h=7
=142 Simplify.
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The surface . S

e A= At AN
Q souumon -30+42 t70

= 4 ft°

The surface area S of a cylinder with height h and radius ris the area of
the two bases plus the area of the curved surface, or S = 2wr2 + 2xrh.

m Find the surface area of the cylinder. -

Round to the nearest tenth.

S = 272 + 27rh Surface area of a cylinder am
S = 2mw(5)2 + 2w(5)(9) r=5h=9
S = 439.8 Simplify. <

The surface area is abo’ ﬂ - 2-_ﬂ r2+ 2 -n r_L\ 5m

= 507 T 10T

(\/P SOLUTION
Erase to reveal)
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(Class/Homework

Worksheet on Prisms & Pyramids
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Attachments

Q Worksheet - Surface Area of Prisms and Cylinders.pdf
Q Worksheet - Surface Area of Pyramids and Cones.pdf
Q  SA Prisms and Pyramids.pdf



NAME DATE PERIOD

Study Guide and Intervention
Surface Area of Prisms and Cylinders

The surface area of a prism is equal to the sum of the areas of its faces. For a rectangular prism with
length £, width w, and height h, the surface area is S = 2¢w + 2¢h + 2wh.

] ) Find the surface area of the rectangular prism.

S = 20w + 2¢h + 2wh Surface area of a prism
S =23)5) +28)7) + 2(6)(7) ¢=3,w=5h=7
S =142 Simplify.

The surface area is 142 square feet.

The surface area S of a cylinder with height h and radius r is the area of
the two bases plus the area of the curved surface, or S = 2mwr? + 2mrh.

: “‘EXAMPLE . "2 Find the surface area of the cylinder.
N " Round to the nearest tenth.

The surface area is about 439.8 square meters.

I~
S = 2mr2 + 2nrh Surface area of a cylinder A
S = 2mw(5)2 + 2w(5)(9) r=5h=9 o
S =~ 439.8 Simplify. o
0
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3.

|50m [8in.

4yd 7in.

8 mi

4 mm

17.4km

5.6 mi

'5mi

7. rectangular prism: length, 2.3 in.; width, 7 in.; height, 8 in.

8. cylinder: radius, 4 cm; height, 8.2 cm
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NAME

) Practice: Skills

Surface Area of Pyramids and Cones

Find the surface area of each solid. Round to the nearest tenth if
necessary.

i1

DATE PERIOD

5mm

4, ' 5. 41t 6.
5yd 6 ft
A=10.8yd? 6 ft
5vyd
5vyd
% 8. 9.
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L 6cm 8.9¢cm
:,
1
5.7 mm -
£ 6cm
. 6cm
A=15.6 cm?

13. square pyramid: base side length, 4 cm; slant height, 7.3 cm

14. square pyramid: base side length, 5 yd; slant height, 12.7 yd

15. cone: diameter, 26 in.; slant height, 8 in.
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13. cube: edge length, 11 m

14, rectangular prism: length, 9 cm; width, 13 cm; height, 18.4 em
16. cylinder: radius, 9.4 mm; height, 16 mm

16, cylinder: diameter, 28 in.; height, 12.6 in.

@ 0lncooMcGraw-Hil 408 A






		Page 1



SMART Notebook


	Page 1
	Page 2
	Page 3
	Page 4
	Attachments Page 1

